7511 &/

[EHE
5%
Serles PPQQA/1 SET~2
............................................... S
Q.P. Code 430/1 I2
T 4.
wieqrefl JeH-uF SIg I IH-YEdHT
Roll No. qQ-y8 W 3w ford |
Candidates must write the Q.P. Code
on the title page of the answer-book.
i NOTE
%(I) FYIT T F T 1 39 F97-97 4 giga|(D)  Please check that this question paper

contains 11 printed pages.

(D

Yo7-79 4 Flled &9 B SR 7Y 7Y
J97-T7 HIE H T IT-GIETH P
T@-98 | ford |

(11

Q.P. Code given on the right hand%
side of the question paper should be:
written on the title page of theé
answer-book by the candidate. :

L(I1D)

FYI S B A [ 5 FH-7 H
14573/

(I11) Please check that this question paper%

contains 14 questions.

Time allowed : 2 hours

%(IV) FHYAT 97 &1 I [o7@T J& & @|(IV) Please write down the serial§
qgﬁ- 3?/7_57%397 T gsq &7 FH4TH number of the question in the.
T ford | answer-book before attempting it.
(V) 59 YI-97 H %’7} & forw 15 A72|(V) 15 minute time has been allotted to%
H GHT a1 T B | FH-F F read this question paper. The:
o W % 10.15 §9 1337 S0 | question paper will be distributed;
10.15 &9 @ 10.30 I3 7% FIT BT at 10.15 a.m. From 10.15 a.m. to:
F?.?—QS’ 5 qéﬁ&ﬁzr 57 S7afey ¥ ah] 10.30 a.m., the students will read the%
e N g B question paper only and will not:
F I GIETH T FIE TH T / write any answer on the answer-book§
— durmg tth perwd
0100 in

5E ) g

' MATHEMATICS (BASIC)
HeiRa a7 : 2 g2 STIHTT 37 : 40

Maximum Marks : 40

.430/1/2

P.T.O.




AT 7397 :
TR 143911 %! Sigd HIaer] & e N 7] &xed] & Tt B :
(i) 39 F97-97 4 $7 14 97 8 | T 397 339 & |

(i) I8 F97-97 di7 @USl § [Qyifaa 8 - @Us &, & 797 T |

(iii) WIS FHHT6 Y97 (9 1 T6)3 7d 395 J972 1% F1 & | T 551 &
STTARF fdehcq YT 13397 747 & |

Gv) @WIS@H4 397 (3.9 7 810) &, 577 309% J97 3 31 &7 8 | Uk o7 §
3TaRF [dHcT JeT7 13537 73T & |

(v WIS TH4L 397 (99 11 14) & 575 39% J974 37 &1 8 | Uk J97 7
STARF [adHeq JGI7 137 T & | 39 GV 7 31 Y0 37egg7 TR J97 47

T & |
(vi)  FepA F ITINT HI IFHT TE 8 |

@ usg <h

G GEIT1 T 6 TF J9F Jo7 & 2 37F & /

1. (%) fooma afieRtor x2 — 5x + 9 = 0 < Hai i Jhid F1d hHIWT |

SHAYAT

(@) Tt fgama gt faRae ek qa —3dn 5% |

2. TAffad SRERd s & T S5 F1d T

it 0-20 | 20-40 | 40-60 | 60—-80 | 80—-100

TRIRTT 8 7 12 5 3

.430/1/2 2




General Instructions :

Read the following instructions very carefully and strictly follow them :

(1) This question paper contains 14 questions. All questions are compulsory.

(it)  This question paper is divided into three sections — Sections A, B and C.

(iii) Section A comprises of 6 questions (Q.no. 1 to 6) of 2 marks each. Internal

choice has been provided in two questions.

(iv) Section B comprises of 4 questions (Q.no. 7 to 10) of 3 marks each. Internal

choice has been provided in one question.

(v)  Section C comprises of 4 questions (Q.no. 11 to 14) of 4 marks each. Internal

choice has been provided in one question. It also contains two case study based

questions.

(vi)  Use of calculator is not permitted.

Question numbers 1 to 6 carry 2 marks each.

SECTION A

1. (a)  Find the nature of the roots of the quadratic equation
x2—5x+9=0.
OR

(b)  Write a quadratic equation with roots — 3 and 5.

2. Find the mode of the following frequency distribution :

Class

0-20

20 - 40

40 - 60

60 — 80

80 —100

Frequency

12
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3. In Figure 1, if tangents PA and PB drawn from a point P to a circle with
centre O, are inclined to each other at an angle of 70°, then find the
measure of Z POA. 2

Figure 1
4, Solve the quadratic equation x% + 3x -9 = 0 for x. 2
5. (a) In an AP, if a=50, d=—4 and S, =0, then find the value of n. 2
OR
(b)  Find the sum of the first twelve 2-digit multiples of 7, using an AP. 2
6. A solid metallic sphere of radius 3 cm is melted and recast into the shape
of a solid cylinder of radius 2 cm. Find the height of the cylinder. 2
SECTION B
Question numbers 7 to 10 carry 3 marks each.
7. Determine the median marks for the following data : 3
Marks Number of Students
0-10 3
10 -20 8
20 -30 15
30 — 40 10
40 - 50 8
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8. The following table shows the age of patients admitted in a hospital

during a particular week :

Age (in years) 5-15 | 156-25 | 25-35 | 35—-45 | 45-55 | 55-65

]IZ umber of 5 12 20 24 15 4
atients

Find the mean age of the patients. 3
9. (a) Draw a circle of radius 4 cm. Construct a pair of tangents to the

(b)

circle from a point 6 cm away from its centre. 3
OR
Draw a line segment PQ = 7-5 cm. Divide it in the ratio 3 : 1. 3

10. A tower stands vertically on the ground. From a point on the ground,

which is 15 m away from the foot of the tower, the angle of elevation of

the top of the tower is 60°. Find the height of the tower. 3

SECTION C

Question numbers 11 to 14 carry 4 marks each.

11. (a)

(b)

.430/1/2

A spherical glass vessel has a cylindrical neck 8 cm long and 1 cm
in radius. The radius of the spherical part is 9 cm. Find the

amount of water (in litres) it can hold, when filled completely. 4

OR

From a solid cylinder, whose height is 24 cm and diameter 1-4 c¢m,
a conical cavity of the same height and same diameter is hollowed

out. Find the total surface area of the remaining solid. 4
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12. In the given Figure 2, PQ is a tangent to the circle centred at O such that

Z PQB = 120°. Find the measure of £ QAB. 4
Q
Figure 2

Case Study 1

13. Do you know old clothes which are thrown as waste not only fill the
landfill site but also produce very harmful greenhouse gas. So, it is very

important that we reuse old clothes in whatever way we can.

The picture given below on the right, shows a footmat (rug) made out of
old t-shirts yarn. Observing the picture, you will notice that a number of
stitches in circular rows are making a pattern : 6, 12, 18, 24, ...

Based on the above information, answer the following questions :

(a)  Check whether the given pattern forms an AP. If yes, find the
common difference and the next term of the AP. 2

(b)  Write the n' term of the AP. Hence, find the number of stitches in
the 10t circular row. 2
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Case Study 2

14. The following TV Tower was built in 1988 and is located in Pitampura,
Delhi. It has an observation deck. Observe the picture given below :

The TV Tower stands vertically on the ground. From a point ‘A’ on the
ground, the angle of elevation of top of the tower (point ‘B’) is 60°. There
is a point ‘C’ on the tower which is 78 m (approx.) above the ground.
The angle of elevation of the point C from point A is found to be 30°.

(a) Draw a well-labelled figure, based on the information given above.

(b)  Find the height of the tower and the distance of the tower from
point A.
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